Name___________________________________
Worksheet 6.3 Circular Motion and Centripetal Force

1.  A sock stuck to the inside of the cloths dryer spins around the drum once every 2.3 seconds at a distance of 0.54 meters from the center of the drum.  What is the sock’s linear speed?  Show 5 steps.
2.  If in the problem above the drum were twice as wide, would the linear speed be faster than, slower than, or the same speed as your answer to #1?

3. What is the centripetal force required to keep a 1.3kg piece of dried concrete spinning at a rate of 0.31 m/s.  Assume the cement mixer has a radius of 2.5 meters.   Show 5 steps.  

4.  What is the radius of a car tire that turns once every 0.1 seconds and has a linear speed of 20m/s?  Show the 5 steps.
5.  A rubber stopper is twirled above a person’s head.   The radius of the circle is 1 meter and the stopper has a velocity of 7.5 m/s.  If the centripetal force acting on the stopper is 2.5 Newtons, what is the mass of the rubber stopper?  Show 5 steps.

